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Introduction

Hall B harp scan

Wire scanner system and the inclination angle problem.
The solution of this problem.

Simulated data

Results

Conclusion
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Harp Scan with Gaussian fit

X-direction of the Harp scan Y-direction of the Harp scan Y"-direction ofthe Harp scan
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Wire Scanner System

X'and Y' are along major axises of an ellipse

Oy = a — semi — major axis

oy’ = b — semi — minor axis

ox,0y and g, - scan along X, Y and wys

<

1 wire scan — gives oy

2 wire scan — Zives oy

3 wire scan — gives g, .
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Get a, oy, and oy parameters of the beam.
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The Model for Simulated Data

Beam profile along Y’ axis.
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Conclusions

The third wire scan analysis are added and the beam profile in 45 deg

direction is fitted.
The inclination angle is calculated.
The beam parameters in it’s own system are obtained.

The program is tested on simulated and real data.
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